If c=5 then [If b=6 then [If x=2 then [If x=2 then b+b=2b |2x-x=2 |x+y=xy |x+x=x’
’=25 10b=60  |[10x=20  |3x=6
If d=9 then |If c=5 then |If x=2 then |If y=3 then 2h-h=h |x+3=4x [h+y=2hy [gxg=2g
2d=18 2c=45 10x=200 y+2 =32
If y=3 then [If i=8 then [If g=3 then [If j=6 then X+3x=4x [6b+b=7c |-10x+x= |y+x+Xx=
y+2=5 8i=64 q-4=-1 0.5j=3 11x 3xy
If h=1 then |If d=9 then [If h=2 then [Ifh=2then | |0.5x+0.5x [10g-3g= |x-y=0 [x*+x*=x’
10h=20  |5d =81 3h=15 h*=8 =X 13g
If I=1 then [If k=17 If e=7 then |If a=3 then 3b+3b= |[5g8-68=-g|X+Yy+X+y|X+X+X=
101=10 [then 2k=34 |3e=21 3a=9 6b =2x+2y  |3x
cx2=2c |05yx10=|-10x+5x= |x+y-x-y 5(x+1) =5x [4(n+m) = |p(p+2) = 3(x+2) =
Sy -5x = dmn+2n p+2 3x+6
axbxc= |yxy=2y |txt=2t> [-hx10= 7(2x+3) = | 2(4+y)= 3(4t+5y) = [4(x+1) =
abc 40h 72x+73 24+2y 15t+12y 4x+4
2bx3=6b [10x5h= |bxb=b’> |bxbxb= 10(x+y) = [11(2m+3) [5(y+6)= |10(x+6) =
50h b* 10xy =22m+33 |5y+30 10x+60
axb=ab |bxc=de |7x7t=35t|9x11lm= 4(4x+40) = |6(g-2) = h(h+3) = b(c+1) =
911m 44x 6g-12 2h+3 bc+b
4nx10= |0.2mx5= |20ax10= |-bx5=-5b 5(x+7) = 0.5(10x+2) |10(t+w) = |b(b+6) =
40n m 200a 5x+7 = 5x+1 10t+10w  [b*+6b
An octagon An acute 16 is a square | A decagon
has 8 sides angleisless |number has 10 sides
than 90°
3isaprime |Apentagon |Adecagon 12 is a multi-
number has 8 sides has 20 sides | ple of 10
4isafactor |S5isafactor |7isaprime |4isasquare
of 40 of 10 number number
A pentagon |10isaprime |5isafactor |[30isan odd
has 5 sides number of 8 number
35isa multi- | Anisosceles |A scalene A quadrilat-
ple of 5 triangle has 2 | triangle has O | eral has 4
equal sides equal sides sides




